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Z-Score Practice Worksheet Name Q%

1. A normal distribution of scores has a standard deviation of 10. Find the z-scores
corresponding to each of the following values:

a) A score that is 20 points above the mean.
% —_ = (9\ 450 \J a.lMQ - M2am
70
b) A score that is 10 points below the mean. S D
-1 N

Z < | 70

c) A score that is 15 points above the mean -
/

‘ =/ S )O

d) A score that is 30 points below the mean.

_ -3
Z2="3 95
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2. The Welcher Adult Intelligence Test Scale is composed of a number of subtests.
On one subtest, the raw scores have a mean of 35 and a standard deviation of 6.
Assuming these raw scores form a normal distribution:

a) What number represents the 65% percentile (what number separates the

lower 65% of the distribution)? V M - M-me
2 = "wwnorm (- o) - .38S =

3 t number represents the 90 percentile?

2= avnorm(- ?O>:\‘°1§-gum

).a% = X=35

2 =205 =‘3= 5
Qocwolcd € (-1167,.5)

d) What is the probability of getting a raw score between 41 and 447?

(4
SRR —
v\om\alc&f[’/s)@ 3(; ,7;', "
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AN
3. Scores on the SAT form a normal distribution with £z =500and o =100.

a) What is the rninimurf score necessary to be in thetop 15% o} the SAT
distribution? ~ Velw

=launorm (- 85) =V%&WM 85" il

].03(, = X =50
loo 13
03.L =X—50D

b) Find the range of va‘ues that defines the middle 80% of the distribution of

SAT scores<{372amiess).
) Valhe -
2= m\mo(w\(-lo) LN

_l 28 =X-%0>

/0O
X= 372, I; [‘7;
_ Wl fo
-25'\“01\0('\'\(*(‘30) = \E&\;%_M
| ag =Xt

=2 372 to LAE
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4. For a normal distribution, find the z-score that separates the distribution as
follows:
a) Separate the highest 30% from the rest of the distribution.

2="ownorm (7)Y =. 534

b) Separate the lowest 40% from the rest of the distribution. ’& O?b

Z = 1I0U00Y M ("\’D\‘) = =253

c) Separate the highest 75% from the rest of the distribution. lfo

Z2="\norm (-35)= —. (74 752:
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Z2~=0
5. For the numbers below, find the area between the mean and the z-score:
a) z=1.17

nocmlc&ut(o,/.ﬂ) = 179 = 37.9%

b) z=-1.37

nofm«\co(‘e (—-1.37)O> = 495 =H.5%



Z-Scores Practice.notebook December 11, 2018

HWI -
Qﬁ@#/a &
oL



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6: Dec 11-9:01 AM

